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STANDARD: VI : MAX MARKS: 20
PHYSICS (SCIENCE PAPER 1) MAX. TIME: 30 MIN
GENERAL INSTRUCTION:

e Answers to this paper must be written on the paper provided separately.

e You will not be allowed towrite during the first five minutes.

e This time is to be spent in reading the question paper.

o The time given at the head of this paper is the time allowed for writing the answers.

e Write the question numbers clearly, follow the samesystem of numbering as given in the
question paper.

e Follow the instructions carefully and answer to the point.

e The intended marks for questions or parts of questions are given in brackets.

This question paper contains 2 printed pages’

QUESTION 1
a) Choose the most appropriate answer:- ; [1/,x 6=3]
i) Intermolecular force is maximum in case of
A)Liquid B) Gas C) Solid D) None of these
if) -~ All material bodies occupy :
" A) Mass B) Weight C) Space D) None of these

iii)  The type of matter which can beheaped is
A) Solid B) Liquid C) Gas D) None of these.

iv)  The unit which is used to measure the length of a pencil
A)Km . B)metre  C) Centimetre D) None of these.

v)  The threadand ruler is used to measure the length of

A) Straight line B) Curved surface C) Plain surface D) None of

these.

vi)  The distance between the two points is
A)Length B) Mass C) Temperature D) Time.

b) Name the device used to measure [1/,x4 =2]
i)  The length of a pencil '
ii)  The length of school class room
iii)  The length of Teacher’s Table
iv)  The length of Football ground
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c) Write thecorrect statement for the following incorrect statement: 1x4=4

i) Solid is the state of matter which can be easily compressed.
ii)  The Intermolecular spaces in gas is very less than Intermolecular spaces in
liquid.

iii)  The standard units are used to make unit different for different people.
iv)  Alength of 100 metre is equal to one cm.

QUESTION 2

a) Conjeetthe following: - )
i) 7.2 m in cm.
ii) 0.6 km into metre.
iii)  840mm into cm.
iv) 10,000 mm into metre.

b) A thin Copperwire is wound on a wooden cylinder AB very tightly. The length
-X.of Copper wire between A and B is measured by centimetre scale. If the no.
of turns on the coil is 60. Find the thickness of copper wire in mm. Show the
working. - , )]

D s

j““f“”]““l““]““l”“ i ||m’mllm T |H||u|{||IJpmrnqlm‘mqnn]mqlluJ
emihis .
Dol boauBiia s s 0y GB:L0aD S 72]

¢) Write all thecharacteristics of Gases. )
d) Define the standard unit of length. 2)

€) Write any two characteristics of a standard unit for a physical quantity. )
f) Write any four unit used to measure length in olden days @)
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